LEGENDA MATERIALU

D=
o|z
¢« | O©
< | 3
o
o
=
[aa]
()
=
=
(%] —
o
- -
—
= X
3
g 11]
>
> .
| Z -
= H —
= S Z T
Wi o N o I
e >
Sz =4 (&)
= < mN
— ..
o o . LW & (1’4
3 a I = | 8
Ex = € OO0 = <
o= : a=z|=2|~
o~ < - ALn BS R I
a = »
DWE [aa)
o =
<
w3 = S
) << >
E%HW [an) . a
=5 L= - &
=g o = o T
— > =
N o =\ m —_— W
T = w
e .MCP (23NN = m 3
3 T Sm 3 S 5 =
N z = =Z 2 L x oz . x o
< > =< =5 = = > g = S 3
< N I 7o £ o I . - @ £ = 32
= S [ o = o <) © N oY < X
& < = H ot x© - = | Q<288 x| 5 =z =
3 = - a Qo Fo 5] o .8 -3 < E E
Q = o =z N < T Iggy < ¥ S = <
- N S 5 T, x — Z 38 6 o % < <
= m Yrom ~ = > = S.AKAWBWAP _
B [ <C = =
R S 238 % 51Z:s.,83588|8325¢
= o = Ll x o
o~ o < N T Lo Dy = L PS8 + 5 ¥ 3 = < <
2 5 3 =2 gl 5 | DE g 285 2as g
- i = Z 55 5@ X 2|l 2Ead 6z n =2
— R : - . o
> = < )
S s oz S Sw g 2 . 2 .
E 5 & o SL3 23 = < | £ e g g
= = & h O =& Z 3 [ 3| = = g E =
© 3 o HZE Ds Q < |5 S o E 2
~N L - NI} a N (@) ) ] e g T -4
T = = o = — <C | [} [} S S o
d S -~ == | W & g % ¥ &
AKn &) = & HyvCNL,m Sy W ~ < a a T a a Z
> = 195}
= N = 9 o =D o ] w .
= oo = —
= o5 [ v s vwx FZo = = = 3 = £
© a — e o= o == = e L i~ ] i
= > 2 = o c e £ 2 = S 5 e
= | 3 u LN WL o~ > I — O S -
o o < e < E = ON N < = > o = >
> [a3) E = © x> Wo =Zx > o = © o T - m a
&= »w o 2 X 1k 2 2 =35 g & o5 o 3 |5 (v}
o o W F X o , o Z ] =
m | > N A == D O = w = ] ~N w 2 —
o < | < Ny o — = <C <C [©)] = = >N + =Y x —
o [&) < = L Z X = o= o = = = (@) < o L < frad
a = = £ . 2Z S0 9L 28 S O Eo= 2 o S | o
. | < = < a Ll X | =Z 0 o = o o a8 <C a
= 2 £ £ £ S¢2lgE’eg 3 5 & % = & = By =z & x
= [aa) = r WO W o e = n = % > = o = = Ll a
n o = o X < N = — > N <t (@) = = & e X =
& — - D O w o - = = = o = o = — = = ] =
> = = = = X Z8 5= - ) s & = Py ) O o = - S o
S a =) o a aa o< Lo = > @) > = [ o~ o T < nwr . . < W
X b < = . =< W X — o X < X - <T ] T <A o o I - > o ¥
= & 1%} = S o =m0 s o = = [ae = = o = = | 5 4 4 5 > 2 @
L < <C O < o< =< = o @) [ o << o << > i Dy = = J S <
= L L (%] (i xa NN —on =0 (i > > m o S [ a o a a K C.M4
SIEX oy - |IEE
S oag sz QR g
= = = = ©» O g &
2 -
L WDWO
o e OME& &
o 5 ~ = 5 5 =]
o = [T R [
- = W = = =
e & S 5 £ £ =

+4,125
/ \
\

©© &)

1725

L
7205
T 13300
-0020

[ s

+4,125
/ \
/N

06 )

48,650
ATKA
14,125
PODLAHA 2.NP
0,000
[ PO TP
=
-2970
[PODLAHA 1.PPZC
T

HH A A A A A A A A H H A H H H H A H A HH A |
wHHHHHHHmmHHWMHHmmHHHHHHHmwwHmmmHHHHHHWMWWMWNN (o)
\\\\\\\ - L nlisininlisininisinininininininlininininl 7
— |
'S T
IR .
e _
iw Sk |
Tz -
l |
{\ —
L |
el S © |
_ ®

X
\
A\

it}

\ﬂ[l

[
T
7
[-E-) BV
IARY
L0
/. \d
/

4)

EENE
LNz S ] 7
|
|
WMMMMMM =
L |
Aad i

00
00
®

.
LT 7
TN
> L
==

= 7

ot >~
nmr o 7

| o~
e Jen
bR |

9 S e

H e 5
] Jo g\
e e — - — : ©

48,650
AKA
+4,125
PODLAHA 2P
10,000
PODIAHE TP .
-2970
FODLARA TPPZC
BNl W
@A TP




